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Problem 4. P&rm'rbing. forces

. e

Pert :nrbmfg forees, d.e. fovees that deviate from the gentra]l gravity field term, cause a.subel-
lite's orbit -arcund the Barth te deviate from g perfect Kepletian orbit. These perturbing
foroes ean semetimes be advantagedus for cértain sapellite orbitd arfound the Earth,

Sun-gynchronous satellite orbits:

a. What s a sunreynchronens erhis?

b. Give =t least three pussible advantages of flying 2 sunssynchromous orbit (consider
especially so-valled " dawn-dusk” orbits with a.local time of 6 AM or 6 PM. at egitator
orossings). : -

¢ Compute the indlination of a:sim-gynchronous diravilar orbit et 250 km altitude abova
the Earth. :

d. Does the inclination of a direular siufi-synchrondus 8rbit dseréase or insresse with hirher
altitudes?




Vno\o\@u« L Péwwsb‘\f\”j oK ce Z(f J)u.,/\ V€

{

e

GL\. SW\ »thsvxcbuu‘w\@ug ooy b
-3 5\ 7 . ‘
‘LE oe OGN (Dd\ Chan OVUL) &~ (/\,/L.QA/L}L vavig /& MW»«
L N

@@L%{/\ (p[uné Wa/( Slvn ve o toc '»-:—) C ons Poeas

b) - L»Q, Sett Jalh\\:% o Cae corTt /\L«\O\m(\f) soe tleg

Scawn’  ad fﬂ\\fﬁ«m&zumca ézoa, cAT Fuskes contuol 1
{—m ohsenvcctions of €ha  Scw, ;C@t Nz ~Canhntiny
@u\,fémgj SWD E}J S olage ‘QCM/@Q/(.,J
- {\\/\ o Q,;:gau_,u Ve C"@"? b He QMJNQX\\M Q\)Qwi@”@j 2N
C@VL*G»\V( (Cd‘\ fete, ol dd»; < oA tle (oome (SN
Saz, Fueas: - mc\.L”Lv) aoge iU fany 74 Lo
‘f)Ff&-CQ. (uﬁwod NP C@V\C( hﬁ“& o Hﬂ& e
_ \V\S)YVE/\»U"LQL&% < KQC}’“\’@\ ,f\_j ot oo o o Clra %fﬁ;’&
cele st ol 4’6@\&»@;” N el f e Y A
(e AW ewptiom 57 e Sean
j&'n | 6262t 10

NS aD et N/ AATR
Q) = 2= (o) () C”SQ(CEE:) 29 P b
N ——— '

RPN N T Pe™ G3F( b
. . ((\?Ju«u ol ter | Po e b aliiwsde
. 260 pesstiats given
..;Q - - - — (\ DEE XA NALY

) Qe o 2
) < 36&1?*2%6@«6@ - ( 3(@1 (L’{f M{b

Mlﬁb{,{,@ CeS (‘.v Cfb& Suhb \éfCJQ CAVC Zé/& é’q‘[{ﬁ)é}ﬂ CWL@& )ﬁz(( ,f\

CS s bl fasded @7&&3 win - (Jummiey )

( N
‘%R 5\\%\(»%& =D = AT M&wﬁ‘ byic L D) SO Q k_f(d%@j g{md(t’r’lz‘ Ay

7

Slm (L{ /\4:(, J
’ C Fheseome [ 80 > M pocores Ea = SO CUS ¢ maf i~ be /“' i//“”’ -
3_(12 p3 mwi‘ >/7L6VZ/M Jéﬁ”éié?§ @Q@({igﬁ

W %WJ‘ l/‘



